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CALCULA LOS SIGUIENTES LIMITES:

X si x<0
f(x)=<1 . lim f(x); lim f(x); lim f(x); lim f(x);lim f(x)
— s x>0 X—>—00 X—>+o0 X—>-3 x—>2 x—0
X
X+1 .
— si x<0 . . . . .
f(x)=49 x lim f(x); lim f(x); Ilrpgf(x); Ilngf(x);llrrgf(x)
27 si x>0
% si x<1
f(x)= X2+ Iirp f(x); lim f(x); Iirrg f(x) Iirpsf(x); Iin;f(x);lirrll f(x)
X =2 si x>1
X
=X & x<-2
X+3
h(x) =<2 si —2<x<1
2
X si x>1
X—2

lim £ 5 lim £0; 1im £ (0 lim £0); lim £()31im £(x); lim £ () lim f (x)

3)2(+Z si x<0
h()=1% =
3 )
5 si x>0
X" —4

Iirp f(x); lim f(x); Iirpsf(x) Iirpsf(x);lingf(x); Iinl1f(x); Iin;f(x)

5 si x<0
h(x) = X2 Iirp f(x); lim f(x); Iirplf(x);lirgf(x); Iirrzlf(x);lirrllf(x)
X si x>0
x-1
1-x si x<0
h(x) = X+3 lim f(x); lim f(x); lim f(x); lim f(x);limf(x); lim f(x)
X+1 i 0 X—>—00 X—>+00 x—>—1 x—>-3 x—0 x—2
si x>
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SOLUCIONES
1 lim f(x)=0
lim f(x)=—o0; lim f(x)=0; lim f(x)=-3; lim f(x)==; lim f (x)={*7° = Alim f (X
X—>—o0 () ®© X—>+00 () X—-3 () xX—2 () 2 x>0 () ||m f(X):+OO x—0 ()
x—0"
2 1 lim f(x)=—oo
lim f(x)=1; lim f(x)=0: lim f(X)==: limf(x)==; limf(x)={*"° Alim f(x
X—>—c0 () X—>+00 () X—-3 () 3 x>2 () 4 x-0 () ||mf(x)=1 = x—0 ()
x—07"
1 lim f(x)=—o0 3
lim f(x)=0; lim f(x)=+0; limf(xX)==; lim f(x)={*""° =Alim f(x); limf(x)=—;
X——00 () X—> 40 () ® Xx—0 () 3 x--3 () ||m f(X)=+OO x—-3 () X—2 () 2
x—>-3"
lim f(x):1
lim f(x) =<1 4 = Alim f (x)
= lim f()=0
x—1"
5 Iirr;f f(X)=—o0
lim f(x)=-1; lim f(X)=+o0; Iim f(X)=—=; lim f(x)={""" Alim f(x);
X—>—00 () X—>+00 () © X—-5 () 2 X——3 () lim f(X)=+OO:> X—-3 ()
x—>-3"
lim f(x)=2
lim f(x)=2:limf(xX)=2:limf(x)={*"" 3lim f (X);
X—>-2 () x—0 () x—1 () lim f()():_]_:> x—1 ()
x—1*
lim f(x)=—o
limf(x)= x>z = Alim f (x)
X—2 ||m f(X):+OO X—2
x—2"
lim f(x)=-1
x—0"
lim f(x)=0; lim f(x)=0; Ilim f(x):—§; lim f(x):—l;limf(x): 3:>£Iimf(x);
X—>—00 X—>+00 x—-5 8 X—>-3 2 x>0 ||m f(X):—— x—0
x—0" 4
lim f(x)=—
limf(x)=-1; lim f(x)=41"7% Alim f (x
x—1 () x—2 () lim f()():+oo:> X—>2 ()
x—2*
lim f(X) = 4o
lim f(x)=0: lim f(X)=40: lim f(x)=2: limf(x)=4""% =AIMmf(X); limf(x)=4;
X—>—00 () X—>+00 () ® Xx—>—1 () Xx—0 () lim f(x):O Xx—0 () X—2 ()
x—0"
lim f(x) =—o
lim f (x) =" = Alim f (x)
x—1 lim f(X) =+ x—1
x—1*
lim f(x)=—o
lim f(x)=-1; lim f(x)=0; lim f(x)=1; lim f(x)= X3 = Alim f(x);
X—>—00 X—>-+o0 x—>-1 X—>-3 lim f(X):+OO X—>-3
x—-3"
lim f(x):1 3
Iing f(x)=4x>0" 3 :>£Iim0 f(x); Iin; f(x):z

lim f(x) =+

x—>-3*
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